2 + 652 = 6+ 374 = 13 + 950 =
13 + 824 = 17 + 591 = 0+ 900 =
16 + 99 = 18 + 151 = 20 +321 =
13 +90 = 19 + 537 = 13 +345 =
17 + 439 = 1+ 67 = 18 + 712 =
19 + 956 = 1+ 389 = 4 + 979 =
18 + 524 = 18 + 433 = 12 + 866 =
19 + 764 = 3+ 759 = 17 + 904 =
3+75= 7+ 272 = 16 + 398 =
17 + 438 = 5+ 762 = 1+ 780 =

10 + 589 = 5+ 771 = 14 + 870 =
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Wie viel ist es zusammen? (plus Zahlen bis 20) | ANTWORTEN * K

Plusrechnen

. 2+652= 65 , 6+374=380 ; 13+950=963
. 13+824 =837 5 17+591=608 ., 0+900= 900
7 16+99= 115 3 18+ 151 =169 20+ 321 =341
0. 13+90= 103 ;19 +537 =556 1,13 + 345 = 358
317 +439=456 ., 1+67= 68 518+ 712=1730
619+ 956 =975 ; 1+389= 390 ;s 4+979= 983
1918 + 524 =542 ;118 + 433 =451 ,; 12 + 866 = 878
219 + 764 =783 5 3+ 759 = 762 .17 + 904 =921
5 3+75= 78 0 F+272= 279 ;16 +398 =414
817 + 438 =455 5 5+762= 767 3 1+780= 781
5110 +589 =599 3, 5+ 771 = 776 314 + 870 =884
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